#### BID DATE: October 2, 2024 BID TIME: 10:00 A.M. (Central Daylight Savings Time)

CONTRACTOR	TOTAL BASE BID	TOTAL ADDITIVE ALTERNATE NO. 1	<u>TOTAL BASE BID +</u> <u>TOTAL ADDITIVE</u> <u>ALTERNATE NO. 1</u>
Apeck Construction, LLC	\$520,002.20	\$33,555.00	\$553,557.20
R.C. Paving, Inc.	\$577,505.90	\$16,364.00	\$593,869.90
R.E. Heidt Construction Co., LLC	\$621,615.00	\$38,197.00	\$659,812.00
TL Construction, LLC	\$629,525.00	\$24,000.00	\$653,525.00
Epic Paving, LLC	\$887,250.00	\$46,500.00	\$933,750.00
ENGINEER'S ESTIMATE	\$580,000.00		

I hereby state that to the best of my knowledge and belief this is a true and correct tabulation of the bids received for the project described herein.

Andrew T. Mattingly, P.E.



Apeck Construction, LLC P.O. Box 640 Anacoco, LA 71403 LA Contractor Lic. No. 27239

R.C. Paving, Inc. 1808 Dogwood Trail DeRidder, LA 70634 LA Contractor Lic. No. 36285 R.E. Heidt Construction Co., LLC P.O. Box 640 Westlake, LA 70669 LA Contractor Lic. No. 183

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
ter i se l'e				BASE BID					
203-07-00100	450	CY	Borrow (Vehicular Measurement)	\$11.97	\$5,386.50	\$36.22	\$16,299.00	\$93.00	\$41,850.00
303-03-00400	17,500	SY	In-Place Cement Treated Base Course (12" Thick) (5% by Volume)	\$10.20	\$178,500.00	\$14.31	\$250,425.00	\$14.65	\$256,375.00
502-01-00100	2,000	Ton	Asphalt Concrete	\$158.17	\$316,340.00	\$138.58	\$277,160.00	\$125.00	\$250,000.00
502-01-00200	55	Ton	Asphalt Concrete, Drives, Turnouts and Miscellaneous	\$204.69	\$11,257.95	\$138.58	\$7,621.90	\$198.00	\$10,890.00
713-01-00100	1	LS	Temporary Signs and Barricades	\$598.43	\$598.43	\$500.00	\$500.00	\$7,000.00	\$7,000.00
727-01-00100	1	LS	Mobilization	\$5,636.83	\$5,636.83	\$24,000.00	\$24,000.00	\$53,000.00	\$53,000.00
740-01-00100	1	LS	Construction Layout	\$2,282.49	\$2,282.49	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
			TOTAL BASE BID		\$520,002.20		\$577,505.90		\$621,615.00

2

QNTY

UNIT

REF NO.

	Apeck Construction, LLC P.O. Box 640 Anacoco, LA 71403 LA Contractor Lic. No. 27239		R.C. Paving, Inc. 1808 Dogwood Tr DeRidder, LA 706 LA Contractor Lic	34	R.E. Heidt Constr P.O. Box 640 Westlake, LA 706 LA Contractor Lic	69
DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION

ADDITIVE ALTERNATE NO. 1									
203-07-00100	-300	CY	Borrow (Vehicular Measurement)	\$11.97	-\$3,591.00	\$36.22	-\$10,866.00	\$0.01	-\$3.0
401-01-00100	200	CY	Aggregate Surface Course (Net Section) (2" Thick)	\$185.73	\$37,146.00	\$136.15	\$27,230.00	\$191.00	\$38,200.00
			TOTAL ADDITIVE ALTERNATE NO. 1		\$33,555.00		\$16,364.00		\$38,197.00

		TOTAL BASE BID + TOTAL ADDITIVE ALTERNATE NO. 1	\$553,557.20	\$593,869.90	\$659,812.00
•				14	

#### TL Construction, LLC 114 Columns Drive Alexandria, LA 71303 LA Contractor Lic. No. 35849

Epic Paving, LLC P.O. Box 760 Port Allen, LA 70767 LA Contractor Lic. No. 66252

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
			BASE BID				
203-07-00100	450	CY	Borrow (Vehicular Measurement)	\$53.00	\$23,850.00	\$45.00	\$20,250.00
303-03-00400	17,500	SY	In-Place Cement Treated Base Course (12" Thick) (5% by Volume)	\$13.15	\$230,125.00	\$22.00	\$385,000.00
502-01-00100	2,000	Ton	Asphalt Concrete	\$168.00	\$336,000.00	\$225.00	\$450,000.00
502-01-00200	55	Ton	Asphalt Concrete, Drives, Turnouts and Miscellaneous	\$210.00	\$11,550.00	\$300.00	\$16,500.00
713-01-00100	1	LS	Temporary Signs and Barricades	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00
727-01-00100	1	LS	Mobilization	\$25,000.00	\$25,000.00	\$8,500.00	\$8,500.00
740-01-00100	1	LS	Construction Layout	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00
	5		TOTAL BASE BID		\$629,525.00		\$887,250.00

# TL Construction, LLCEpic114 Columns DriveP.O.Alexandria, LA 71303PortLA Contractor Lic. No. 35849LA Contractor

Epic Paving, LLC P.O. Box 760 Port Allen, LA 70767 LA Contractor Lic. No. 66252

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE	UNIT PRICE	UNIT PRICE
1.000					EXTENSION	and the state of the state	EXTENSION

Contraction of the local division of the loc										
ADDITIVE ALTERNATE NO. 1										
203-07-00100	-300	CY	Borrow (Vehicular Measurement)	\$30.00	-\$9,000.00	\$45.00	-\$13,500.0			
401-01-00100	200	CY	Aggregate Surface Course (Net Section) (2" Thick)	\$165.00	\$33,000.00	\$300.00	\$60,000.0			
			TOTAL ADDITIVE ALTERNATE NO. 1		\$24,000.00		\$46,500.00			
			TOTAL BASE BID + TOTAL ADDITIVE ALTERNATE NO. 1		\$653,525.00		\$933,750.00			